AN 3=

N

~E2022F098 F=RBAN(E1E)

(== = AN
—RRZE R &\ 5 51l 25 Bk
15O 200 hO® 100
Oz 500 hOE 100
=08 500 G O 200
FOIK 1,000 RO 350
F Ok 1,200 FO1z 500
1t O 1% 2,000 ROE 500
MO 3,000 =0 500
B O i@ 500
FOzE 1,000
FHIB EAOES 1,000
=01k 600 O B, 1,000
FO1z 1,000 E0H 1,000
B O JH] 1,000 SO 1,200
i@ OE 1,000 B3O 28 2,000
201 1,700 B O YA 2,000
FOE MO 2,000 RERZHZ 2,000
FHORA 2,000 OB =03 2,000
RO 2,000 HEO %% 3,000
PHEEREZEHE 4,600 208 5,000
(GEEYN—E ISt 5,300 2 O 20,000
EO1E 10,000
EOZ 10,000 FIHEEAEED
hIEREAE 16,110 BLLUAMEEZEHE 25,000
AP AT EE AR B2 AR IR AEEL
o] O BR 1,000 20O 600
RO 2,000 RO 3,000
MOE HOIMH 10,000
BEgERE 10,000 B
b5 O #4 100,000 O EOH 500
RIEEEH REREBEEREETE
(GEEYN—E It 2,000 5RO G 1,000
B ARENE ARNANEEZHETER
O 500 EOXK 2,000
=0¥ 1,000




